Taylor Polynomial Worksheet

_ 4 | '
|. NO CALCULATORS: Let f be the function given by J/ (¢} = T, @d G be the function

givenby G{x)= f:;f(t)df ‘

a. Find the first four non-zero terms and the general term for the power series expansion of
F{t) about t=0.

b. Find the first four non-zero terms and the general term for the power series expansion of
G(x) about x=0.

c. Find the interval of convergence of the power series in part (b).
(Your solution must include an analysis that justifies your answer.)

NO CALCULATORS:

1

a. Find the first five terms in the Taylor series about x =0 for [ (x) 1—2¢

[l

b. Find the interval of convergence for the series in part (a).

c. Use partial fractions and the result from part a to find the first five terms in the Taylor
1

(1—-2x)(1—x)

series about x = 0 for glx)=

a. Find the first four nonzero terms in the Taylor series expansion about x =0 for

Flx)=vV1+x.

b. Use the results found in part (a) to find the first four nonzero terms in the Taylor series
expansion about x =10 for g(x)= v1+x’,

c. Find the first four nonzero terms in the Taylor series expansion about x = 0 for the function

h suchthat '{x)= V1 +x’ and #(0)=4.
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